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Almost Chess – 1 (Step wise solution) 

  
All the possible positions, 
considering that the pieces MUST 
attack D4 and MUST NOT attack 
A4. 

 
King cannot have any neighbours 
around it. So we eliminate other 
pieces from C3 and D3. 

 
K can be eliminated from C3 as it is 
in the line of Bishop. 

K can be eliminated from D3 as it 
is in the line of Rook. 

Only one place for King. Due to K, 
N eliminated from B3. 

 
Only one place for N. And this N 
eliminates B from A1 and R from 
D2. 

Only one place left for B and R. 
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Almost Chess – 2 (Step wise solution) 

  
All the possible positions, 
considering that the pieces MUST 
NOT attack B1. 

All the four positions of Queen 
attack B4 and D3. So no piece can 
come in these two cells. 

 
All the four positions of Queen attack 
C1. So no other piece can attack C1. 
We eliminate all B, K and R which 
attack C1. 

N can be eliminated from B2, C2 
and C4 because it wither attacks a 
Queen or is attacked by a Queen. 

B can be eliminated from B3 (as K 
attacks it) and C3 (as Q attacks it) 

 
It is clear that N will not attack A4 or 
D4. B has 3 places now. But if B is in 
C4, it does not attack A4 or D4. This 
means Both Q and K have to attack 
A4 as also D4. This is not possible. So 
B can be eliminated from C4. 

Since A1 and C1 not have one 
piece each (B or N), Q cannot 
attack these squares. So Q can be 
eliminated from A3 and D2. 

 
Q must come in C3 or C4. So K can 
be eliminated from C3, C4 and B3. 
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Only one place for K and it leaves only 
one place for Q. 

 
Since D4 must have two attackers, 
A1 has to be B. 

 

 

Almost Chess – 3 (Step wise solution) 

  
All possible positions, considering 
that the pieces MUST attack D4. 

 
Q is removed from B2, C4, D3 as it 
attacks all possible positions of N. 

 
Q can be eliminated from D5 and E4. 
D5 leads to only one position for K and 
a violation of D2 constraint. E4 leads 
to only one position for K and there is 
no place for N after that. 

 
Q can be eliminated from C5 and 
E3. In both cases, B will have to be 
on the A1-E5 diagonal leading to 
violation of E5 constraint. 

 
Only three places for Q now. A1, 
D1 and A4. This means N in B3, N 
in C2, B in A1, R in A4 and R in D1 
can be eliminated. 
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The 2 in B4 must be attacked by one 
piece in 2nd row (R or Q) and one 
piece in C5 (K or B). So we can 
eliminate K in 2nd row and other 
pieces which attack C5. 

Only three places for R now. D3, 
D5 and E4. This means K in D3 can 
be eliminated. 

 
Only two places for K. So B can be 
eliminated from C5. This means B 
is in B2. 

 
Q can be eliminated from A1. Since 
the E5 square is attacked by B, we can 
eliminate R from D5, E4. So R is in D3. 

 
Only one place for K, and the rest 
can be completed. 

 

 


